1. A, B, C, D H A FollA Al At ot 282 A& o, A 7F

W Aol H E2?

2 1
o: @ @

ool —
—

@

N

B

A 7FH AH-Zofl A FH el B,C, D Al Abgto] Y& A= S
3x2x1=6 (7HA)olaL, vl Aol QL= M BE 79

a3
—

FE4x3x2x1 =24 (7FA]) o]t}
Lm0 6 1
fqﬁ]'/ﬂ ?‘O]'T: —‘—"*—]’E’: ﬂ T O]E}-




2.

57p=e] Fol, o], 58, AFEl, 45}
T3} WA E o]

S5 5 52 dntel7l

11
® o

A7} 9l Aol 4=

13
© &




0| =

¥ O
@
fin)
R,
flo
rek
TN
o
=
i
&
=
N
N
=)

(o]
0
2
[os]
N
N
=)
4
2
%

i 5e 9gR AL A9 St
4x3x2x1 =24 (7HA)

A7} &, B7H 9 o] A A9 5
2x1=2 (7))

2 1
. (5t 1
BB == 5

rr




@® A0 =0C

@ AF =CF

® /OEB = /OEC
@ /OBE = /OCE
@) 0B = FoC

(DOB = /DOA °]|1 /FOC = /FOA o]t}




5.

thS O34 H O+ AABC 2 24 oltt. H OoA ACo| Hd
A0l vhg pat g uf, AD 9] Zdol=?

QAN Zh W]l Y Ao T2 2t M fAo| TR R
AD = CDO|t}.
a2k AD = 70|t}




6. T2 1"HA - O = aAABC 9 A4lo|th. A O oA BC o W&
Aol ¥hEe D e uf, OB 9] Zeol&?

A

® 6 @7 ® 8 @9 G

A2Fg 9] oA Al BRI ol2& AR 2eB2R OC =
OB ©]th.
w2kA OB = 10 o]t}




@ 367H4] ® 487174

® 72714

@© 24717

@07

5x 4 x 3 =60(7FA]) oltt.

=
—




ASE BT 9 A

@)20 717

@ 10 7]

@ 9 714
@ 21 714

® 25 714




W5, of7t 4T FolH WA 17, o 199 hES B A9

AL
"l‘_'{?

O 12 @ 16 @20 @ 24 ® 28

5x4 =20







11.

u] Abgto] 7H9] Bkl HE 139] & uf, T Algo] o]

A 7¢-o] = 3% = 81(7HA)
A, B7EolZ A%e] 5371
ol AR % o171t T ARk B 7P - 10 = 6(7h)




12.

270,1,2,3,48 22 4 L 539 F1E FA 5 3 BolA
Aelo) H4E WE 0, B4} B 282

AA) 490 % 1 4x4 = 16(7HA)

[ J0: 4@HA) [ 3(HA) [ J4: 3(7FA1) & 107HAL.
J10 5

..1_6—8




13.

Foj) ol F2 &0

0] 57, B2 o] 37 Sof glek. o] Foiy]
oA & o] T&e A W, A Feo] e HEL?
1 1 2 3
@o ® 5 ® 3 ® : ®:
st sEe J =00l




2,4 6 |8

— | 00

— | ©

— <




15. ol AbAo] dofid 3-8o] pd

@ of@ AH7io] Yol 4 9]
stgolet gt
@)ol AH7o] Aolutx] 2 FEL p-10]t}
@ p=1% A7e WEA] dojuet,
g2 o, 130] Y= e

@ HAlolwA mefe] FAHE g

0°1E‘r
® p =% Aol Lol 7B 50% ol




